
1:100 (A1)   1:200 (A3)

10m864202

NOT FOR CONSTRUCTION

D2   FOR TENDER 

DRAWING SHEET SCHEDULE

SHEET NO DRAWING TITLE

0001 TITLE SHEET, LOCALITY PLAN &
DRAWING LIST

0002 GENERAL NOTES -  SHEET 1

0003 GENERAL NOTES - SHEET 2

0004 GENERAL NOTES - SHEET 3

0005 GENERAL NOTES - SHEET 4

0011 GENERAL ARRANGEMENT

0012 DEMOLITION PLAN

0021 PILE LAYOUT

0031 TYPICAL PILE ELEVATIONS

0032 TIMBER PILE DETAILS

0033 STEEL PILE DETAILS

0041 TYPICAL PILE BENT DETAILS

0051 TIDAL STEPS PLAN

0052 TIDAL STEPS SECTIONS - SHEET 1

0053 TIDAL STEPS SECTIONS - SHEET 2

0061 ACCESS STAIRS

0071 SHARK-NET WALER DETAILS

0081 SIGN DETAILS

0091 LADDER PLAN AND DETAILS

0101 GROYNE PLAN AND LONG SECTION

0111 GROYNE SECTIONS - SHEET 1

0112 GROYNE SECTIONS - SHEET 2

PARADISE BEACH TIDAL POOL REPLACEMENT
FOR 

NORTHERN BEACHES COUNCIL

N

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0001

PA3008-RHD-00-XX-DR-MA-0001

S2

TITLE SHEET,
LOCALITY PLAN &

DRAWING LIST

LOCATION

NTS

3D PERSPECTIVE

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ

3D PERSPECTIVE

SHJ



NOT FOR CONSTRUCTION

S2    FOR INFORMATION

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0002

PA3008-RHD-00-XX-DR-MA-0002

S2

GENERAL NOTES -
SHEET 1

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.02.2022 FOR REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

Author Checker Approver

28.02.2023

PA3008-RHD-00-XX-DR-MA-0003

PA3008-RHD-00-XX-DR-MA-0003

S2

GENERAL NOTES -
SHEET 2

SHJ

NOT FOR CONSTRUCTION

D2   FOR TENDER 

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0004

PA3008-RHD-00-XX-DR-MA-0004

S2

GENERAL NOTES -
SHEET 3

SHJ

NOT FOR CONSTRUCTION

D2   FOR TENDER 

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0005

PA3008-RHD-00-XX-DR-MA-0005

S2

GENERAL NOTES -
SHEET 4

SHJ

NOT FOR CONSTRUCTION

D2   FOR TENDER 

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



-1
.5

-1
.0

-0
.5

0
.0

0
.5

1
.0

0
.0

0041

01

BOARDWALK AND HANDRAIL

EXISTING STONE WALL

ACCESS STAIRS, 
REFER TO SHEET 0061

TIDAL STAIRS, 
REFER TO 
SHEET 0051

WALER

WALER

GROYNE, NEW GROYNE TO ENCAPSULATE 
EXISTING GROYNE, REFER TO SHEET 0101

EXISTING RAMP ACCESS

EXISTING STONE WALL

PARADISE POOL TIDAL POOL

EXISTING RAMP ACCESS

EXISTING HEADWALL & OUTLET

B
O

U
N

D
A

R
Y

2

1

A
B

C
D

E
F

GH

3

4

E
X

IS
T

IN
G

 B
O

A
T

 R
A

C
K

S

26030

2
8
0
9
4

17770

11921

4679

0071

02

5235

4
2

5
0

2
6

2
0

7
7
5

2
9

7
5

NEW PARADISE POOL 
SIGN, REFER TO 
DRAWING 0081

REUSE EXISTING SS 
LADDER

SHARK NET BY 
OTHERS TO ENCLOSE

EXISTING STAIR ACCESS

1
6

0
6

S

2
5

0
0

600

HANDRAIL

28600

2
5
0
0

1. ALL MATERIALS & WORKMANSHIP 
SHALL CONFORM TO THE 
REQUIREMENTS OF THE GENERAL 
NOTES. REFER TO SHEETS 0002 TO 
0005.

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE IN 
METRES RELATIVE TO AHD UNLESS 
NOTED OTHERWISE.

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

D

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR TE SH

28.02.2023

PA3008-RHD-00-XX-DR-MA-0011

PA3008-RHD-00-XX-DR-MA-0011

S2

GENERAL
ARRANGEMENT

1 : 100(A1)

SITE PLAN 1:100 (A1)   1:200 (A3)

10m864202

D2   FOR TENDER NOT FOR CONSTRUCTION

N

SHJ

B1

SHJ

REV DATE DESCRIPTION BY CHK

A 25.02.2022 FOR REVIEW BR TE

B 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

C 17.06.2022 FOR TENDER BR HHZ

D 01.03.2023 AMENDMENTS ACT SHJ SHJ



-1
.5

-1
.0

-0
.5

0
.0

0
.5

1
.0

0
.0

0
.5

1
.0

1.
2
2
 P

3
7
5
Ø

EXISTING STONE WALL TO REMAIN

EXISTING RAMP ACCESS TO REMAIN

EXISTING STONE WALL TO REMAIN

EXISTING HEADWALL & OUTLET TO REMAIN

E
X

IS
T

IN
G

 B
O

A
T

 R
A

C
K

S

REMOVE ALL PILES FROM THE SEABED 
(39 PILES INCLUDING SMALLER PILES 
AT ACCESS RAMP STAIRS)

DEMOLISH EXISTING TIMBER 
BOARDWALK AND TIDAL STAIRS

DEMOLISH TIMBER WALER AND 
STEEL MESH SHARK NET 

DEMOLISH GROYNE WALL AS 
REQUIRED TO CONSTRUCT NEW 
GROYNE. THE SEAWARD 3m OF THE 
GROYNE WILL REQUIRE COMPLETE 
DEMOLITION. REUSE ROCK AS FILL 
INSIDE NEW GROYNE

EXISTING STAIR ACCESS TO REMAIN

1
6

0
6

PARADISE POOL TIDAL POOL

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

1 : 150

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0012

PA3008-RHD-00-XX-DR-MA-0012

S2

DEMOLITION PLAN

1 : 150(A1)

DEMOLITION PLAN

N

D2   FOR TENDER NOT FOR CONSTRUCTION

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

NOTES:

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



-1
.5

-1
.0

-0
.5

0
.0

0
.5

1
.0

0
.0

0
.5

-
0
.2
3
 N

S

-
0
.1
9
 N

S

-
0
.2
2
 N

S

-
0
.1
9
 N

S

-
0
.2
0
 N

S

0
.6
4
 N

S

0
.6
6
 N

S

0
.6
7
 N

S

-
0
.8
6
 N

S

-
0
.9
2
 N

S

-
0
.8
4
 N

S

0
.4
5
 N

S

0
.4
6
 N

S

0
.4
5
 N

S

1.
17

 B
H

1.
2
2
 B

H

1
.1
4
 B

H

1
.5

5
 B

H

PARADISE POOL TIDAL POOL

2

1

A
B

C
D

E
F

GH

PA2

PA1

PB2

PB1

PC2

PC1

PD2

PD1

PE2

PE1

PF2

PF1

PG3

PG4
PH4

PH3

PH2

PH1

PW1

PW2

PW3

PW4

P
W

5

3

4

P
W

6

P
W

7

P
W

8

EXISTING STONE WALL

EXISTING RAMP ACCESS

EXISTING STONE WALL

EXISTING RAMP ACCESS

EXISTING HEADWALL & OUTLET

B
O

U
N

D
A

R
Y

PS2

PS1

EXISTING PILES TO 
BE REMOVED, TYP

5200
4900

5200
5150

5250

4
6

8
5

6
0

0
0

6
0

0
0

5
9

6
5

5
4

1
5

E
X

IS
T

IN
G

 B
O

A
T

 R
A

C
K

S

3
0

0
8

3
3

5
0

4
2

5
0

3
0033

E 343880.505 m
N 6278289.730 m

E 343880.598 m
N 6278288.182 m

E 343854.851 m
N 6278288.320 m

E 343854.936 m
N 6278286.773 m

E 343849.588 m
N 6278288.683 m

E 343849.378 m
N 6278278.084 m

E 343852.313 m
N 6278285.655 m

E 343852.175 m
N 6278278.046 m

E 343852.430 m
N 6278272.636 m

E 343852.063 m
N 6278249.976 m

E 343868.775 m
N 6278245.687 m

5750

5750

5750

PG2

2430

S

PG1

E 343854.058 m
N 6278288.946 m

EXISTING STAIR ACCESS

PILE MATERIAL
OD & 

THICKNESS 
(mm)

GRADE

PILE TABLE

PG1 TIMBER 350 MIN AT TOE F22 

PS1 - PS2 STEEL 323 x 12.7 350

CUT OFF 
LEVEL 

REFER TO NOTE 6 

RL 2.6

PA1 - PF2 STEEL 323 x 12.7 350 REFER TO NOTE 6 

PH1 - PH4

PW1 - PW4

PW5

PW6 - PW8

TIMBER

STEEL

STEEL

STEEL

350 MIN AT TOE

323 x 12.7

508 x 12.7

323 x 12.7

F22

350

350

350

RL 2.6

REFER TO NOTE 6 

REFER TO NOTE 6 

REFER TO NOTE 6 

PG2 - PG4 TIMBER 350 MIN AT TOE F22 RL 2.0

1. ALL MATERIALS & WORKMANSHIP 
SHALL CONFORM TO THE 
REQUIREMENTS OF THE GENERAL 
NOTES. REFER TO SHEETS 0002 TO 
0005.

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE IN 
METRES RELATIVE TO AHD UNLESS 
NOTED OTHERWISE.

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

D

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0021

PA3008-RHD-00-XX-DR-MA-0021

S2

PILE LAYOUT

1 : 100(A1)

PILE PLAND2   FOR TENDER NOT FOR CONSTRUCTION

3. ALL TIMBER PILES SHALL BE 
TURPENTINE WITH BARK LEFT ON.

4. CONTRACTOR TO PROVIDE 
CERTIFICATION FROM A SUITABLY 
QUALIFIED GEOTECHNICAL 
ENGINEER TO CONFIRM MINIMUM 
PILE EMBEDMENTS (DRAWING 
0031) AND DESIGN LOADS (NOTE 5) 
ARE ACHIEVED.

5. PILES TO BE SET TO PROVIDE AT 
LEAST 150kN DESIGN AXIAL 
CAPACITY AND DESIGN LATERAL 
CAPACITY SUFFICIENT FOR 30kN 
ULTIMATE LOAD APPLIED AT PILE 
HEAD.

6. CONTRACTOR SHALL MAKE 
THEIR OWN DETERMINATION OF 
PILE CUT OFFS TO ACHIEVE THE 
SPECIFIED DESIGN LEVELS.

8. CONTRACTOR TO UNDERTAKE 
PRECONSTRUCTION SURVEY FOR 
THE PURPOSES OF CONFIRMING 
PILE LOCATION, EXISTING PILE 
LOCATION AND TO ENSURE 
PROPOSED PILES DO NOT 
COINCIDE WITH EXISTING PILES

9.REFER TO DRAWINGS 0031 TO 
0033 FOR PILE DETAILS

1:100 (A1)   1:200 (A3)

10m864202

N

DCP 4
ROCK AT 
RL -1.1m AHD

BH1
ROCK AT RL 
0.1m AHD

DCP 3
ROCK AT RL 0.0m AHD

BH2
ROCK AT 
RL -8.7m AHD

DCP 5
NO ROCK 
ENCOUNTERED

DCP 6
NO ROCK 
ENCOUNTERED

DCP 7
NO ROCK 
ENCOUNTERED

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.02.2022 FOR REVIEW BR TE

B 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

C 17.06.2022 FOR TENDER BR HHZ

D 01.03.2023 AMENDMENTS ACT SHJ SHJ



DATUM
RL0.000 m

FOR TOP OF TIMBER PILE DETAIL 
REFER TO SHEET 0032

FOR TYPICAL TIMBER 
PILE RECESS REFER TO 
SHEET 0032 

WRAP TIMBER PILE WITH 
DENSO SEASHIELD SERIES 70 
(OR APPROVED EQUIVALENT) 
FROM 500mm BENEATH 
SEABED TO DECK LEVEL

5
0
0

SEABED

V
E

R
Y

 L
O

O
S

E
 S

A
N

D

2
-3

m
 (

E
S

T
IM

A
T

E
D

) 
L
O

O
S

E
 T

O

E
M

B
E

D
M

E
N

T
 7

m
 I

N
T

O
 M

E
D

IU
M

 D
E

N
S

E
 

S
A

N
D

 I
F

 R
O

C
K

 N
O

T
 E

N
C

O
U

N
T

E
R

E
D

. 
R

E
F

E
R

 T
O

 R
O

C
K

 S
O

C
K

E
T

 D
E

T
A

IL
 I
F

 
R

O
C

K
 I

S
 E

N
C

O
U

N
T

E
R

E
D

RL 1.20DECK LEVEL
DATUM
RL0.000 m

FOR TOP OF PILE DETAIL 
REFER TO SHEET 0033

355 HDPE SLEEVE 
(560 PN9) EMBEDED 2000 INTO SEABED OR 
GROUTED TO SEAL AGAINST BEDROCK USING 
AN APPROVED GROUT THAT COMPLETELY FILLS 
THE VOID BETWEEN PILE AND SLEEVE. 

V
E

R
Y

 L
O

O
S

E
 S

A
N

D

2
-3

m
 (

E
S

T
IM

A
T

E
D

) 
L
O

O
S

E
 T

O

SEABED VARIES MINIMUM LEVEL APPROX RL -1.5

M
E

D
IU

M
 D

E
N

S
E

 S
A

N
D

 (
D

E
P

T
H

 U
N

K
N

O
W

N
)

E
M

B
E

D
M

E
N

T
 7

m
 I

N
T

O
 M

E
D

IU
M

 D
E

N
S

E
 

S
A

N
D

 I
F

 R
O

C
K

 N
O

T
 E

N
C

O
U

N
T

E
R

E
D

. 
R

E
F

E
R

 T
O

 R
O

C
K

 S
O

C
K

E
T

 D
E

T
A

IL
 I

F
 

R
O

C
K

 I
S

 E
N

C
O

U
N

T
E

R
E

D

STEEL PILE

M
IN

 E
M

B
E

D
M

E
N

T
 9

m

CLASS IV SANDSTONE

MIN 600mm
MAXIMUM Ø OF PILE + 200mm

POT TIMBER PILE INTO 
Ø600 HOLE AND 
GROUT WITH 50MPa 
CONCRETE 
OR DRIVE TIGHTLY 
INTO PRE-BORED HOLE 
MATCHING TOE 
DIAMETER OF PILE. 
PILE TO BE RIGID 
WITHIN SOCKET.

FOR GROUTED SOCKET

(1
0

0
0

 I
F

 O
V

E
R

B
U

R
D

E
N

 
G

R
E

A
T

E
R

 T
H

A
N

 5
m

)

CLASS IV SANDSTONE

E
M

B
E

D
M

E
N

T

1
5
0
0

(1
0

0
0

 I
F

 O
V

E
R

B
U

R
D

E
N

 
G

R
E

A
T

E
R

 T
H

A
N

 5
m

)

1. ALL MATERIALS & WORKMANSHIP 
SHALL CONFORM TO THE 
REQUIREMENTS OF THE GENERAL 
NOTES. REFER TO SHEETS 0002 TO 
0005.

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE IN 
METRES RELATIVE TO AHD UNLESS 
NOTED OTHERWISE.

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0031

PA3008-RHD-00-XX-DR-MA-0031

S2

TYPICAL PILE
ELEVATIONS

1 : 20(A1)

TYPICAL TIMBER PILE
1 : 20(A1)

TYPICAL STEEL PILE

1 : 20(A1)

TYPICAL TIMBER PILE ROCK SOCKET
1 : 20(A1)

TYPICAL STEEL PILE ROCK SOCKET DETAIL

4. GEOTECHNICAL INVESTIGATION 
UNDERTAKEN BY JK GEOTECHNICS 
REF 34640SJrpt

5. CONTRACTOR TO OBSERVE 
DRIVING CONDITIONS AND TO 
CONTACT DESIGNER IF DRIVING 
CONDITIONS INDICATE SOILS 
DIFFERENT TO ASSUMED 
GEOTECHNICAL LEVELS.

6. FOR TIMBER PILES REFER TO 
DRAWING 0032 AND FOR STEEL PILE 
DETAILS REFER TO DRAWING 0033

D2   FOR TENDER NOT FOR CONSTRUCTION 1:20 (A1)   1:40 (A3)

2000mm160012008004000400

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



DATUM
RL0.000 m

01
-

1
5
0

6
4
0

6
4
0

6
4
0

6
4
0

6
4
0

1
5
0

200x75 HDPE FENDER RUBBING 
STRIP PLACED OVER WRAP ON 
PILE PG1, PH1(2 OFF) PH2, PH3 & 
PH4. OFFSET BOLTS OF ONE 
RUBBING STRIP BY 150mm AT 
PILE PH1 TO CLEAR.

TIMBER PILE

RL 2.60

RL 2.50

RL -1.00

M20 BOLTS 

75x75x30 DEEP NOTCH 
FOR NUT RECESS 
(ABOVE DECK LEVEL 
ONLY - NO NOTCH 
BELOW DECK LEVEL) 
FILL RECESS AS PER 
SPECIFICATION

50x50x30 DEEP NOTCH 
FOR BOLT HEAD RECESS

25mm CHAMFER

TIMBER PILE

APPLY PROTECTIVE 
COATING AS PER 
DRAWING NOTES

PILE WRAP

2
5
 N

O
T

C
H

5
0

4M6 COACH SCREWS 
50 LONG

FIBREGLASS PILE 
CAP TOP AFTER 
INSTALLATION OF 
SPLIT RING. - WHITE

SPLIT RING -
50x10  STEEL, 
OUTSIDE 
DIAMETER TO BE 
NOT LESS THAN 
THE DIAMETER 
OF PILE x 0.9

TIMBER PILE

PAINT TIMBER 
PILE WHITE 
FROM TOP TO 
RL 1.0

APPLY PROTECTIVE 
COATING AS PER 
DRAWING NOTES

TIMBER PILE

PILE WRAP

MIN 40 RECESS UNO

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

1
0
0

1
0
0

3
0
0

300

1
0

CAP PL Ø158.3 x 10 
THICK, 5 CONT FILLET 
WELD. GRIND OFF 
SHARP EDGES AND 
CORNERS

168.3 BY 6.0 CHS 
FULLY WELDED AND 
GROUND SMOOTH

SIDE PLATE 250 WIDE 
x 20 x 300, 8 CFW TO 
CHS

FIX MOORING 
CLEATS TO PILES 
WITH 4 x Ø24  BOLTS 
RECESSED WITH 
SUITABLE WASHERS 

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0032

PA3008-RHD-00-XX-DR-MA-0032

S2

TIMBER PILE
DETAILS

1 : 10(A1)

FENDER PILE DETAIL

SECTION
-1 : 5 (A1)

01

1 : 5(A1)

TOP OF TIMBER PILE DETAIL

1 : 5(A1)

TYPICAL TIMBER PILE RECESS DETAIL

4. ALL TIMBER PILES SHALL BE 
TURPENTINE WITH BARK LEFT ON.

5. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL 
UNLESS NOTED OTHERWISE. 
REFER TO GENERAL NOTES. 

6. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, ALL 
RECESSES AND BOLT HOLES

D2   FOR TENDER NOT FOR CONSTRUCTION 1:10 (A1)   1:20 (A3)

1000mm8006004002000200500mm4003002001000100

1:5 (A1)   1:10 (A3)

SHJ

1 : 5(A1)

MOORING CLEAT DETAIL

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



M20 EYE NUT TO 
MANUFATURERS 
DETAILS (3 PER BAY)

200x100 
TIMBER 
WALER

300x350 
TIMBERWALER 
PAINTED WHITE

M30 BOLT

M20 BOLT AT 1500 CTS
RECESS BOLT 

SHARKNET BY 
OTHERS 
INSTALLED TO 
MANUFACTURES 
REQUIREMENTS 

CL PILE

M30 NUT

M20 BOLT

50MPa CONCRETE

ANTI PEDESTRIAN PROVIDE 
TIMBER WEDGE BEAM OVER 
WALER PAINTED WHITE

RL 1.55

RL 1.25

E
M

B
E

D
M

E
N

T

5
0
0

C
O

N
C

R
E

T
E

 S
O

C
K

E
T

6
0
0

HDPE CAP PLATE SEAL 
WELDED TO HDPE SLEEVE

350

300

CL PILE

TIMBER 
HEADSTOCK 
200 x 350

HDPE SLEEVE

M30 CAST IN BOLT 
M24 AT PS1 & PS2

M30 NUT

50 MPa CONCRETE

E
M

B
E

D
M

E
N

T

5
0
0

C
O

N
C

R
E

T
E

 S
O

C
K

E
T

6
0
0

RL 1.60

TRIM TIMBER 
WALER TO FIT

150

1
5
0

120

1
2
0

M
IN

 75

150

150

M
IN

 75

M20 BOLTS TYP

M30 BOLT

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0033

PA3008-RHD-00-XX-DR-MA-0033

S2

STEEL PILE
DETAILS

1 : 10(A1)

STEEL PILE TO WALER DETAIL
1 : 10(A1)

STEEL PILE TO HEADSTOCK DETAIL

DETAIL
00211 : 10 (A1)

3

PW5 WALER CONNECTION DETAIL PLAN

4. 300 BY 350 WALER AND 200 BY 
100 WALER AND ANTI PEDESTRIAN 
PIECE TO BE PAINTED WHITE AS 
PER THE SPECIFICATION

5. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL 
UNLESS NOTED OTHERWISE. 
REFER TO GENERAL NOTES. 

6. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, ALL 
RECESSES AND BOLT HOLES

D2   FOR TENDER NOT FOR CONSTRUCTION 1:10 (A1)   1:20 (A3)

1000mm8006004002000200

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



2
0
0

3
0
0

1550470 425

200 730 730 730

50

CL HEADSTOCK

55

PILE

200x350 TIMBER HEADSTOCK

300x100 TIMBER 
JOISTS TYP.

50 DEEP AND 200 WIDE 
TIMBER DECKING

CL PILE CL PILE

100x100 HANDRAIL 
POST AT MAX 2000 CTS

75x75 
HANDRAIL 

75x50 MID & 
BTM RAILS

500x50x2 SS 
HOOP STRAP 
2M12 CUP HEAD 
BOLTS

2M12 CUP HEAD BOLTS

2M12 CUP HEAD BOLTS

2M16 BOLTS 

CLEAR WIDTH

2370

2 1

SHARKNET BY 
OTHERS 
INSTALLED TO 
MANUFACTURES 
REQUIREMENTS 

2500

100mm BY 300 DEEP 
BY 200 LONG (600 
LONG AT SUPPORTS) 
TIMBER CHOCK

RL 1.60

2445

01B
-

0041

01A

150 105

100mm PAINTED 
WHITE LINE

-
-

01C

PROVIDE DOME CAP 
OVER BOLTS TYP.

7
5

7
51
0
0 4
5
0

HANDRAIL POST

2000 CRS TYP

TIMBER JOIST

1
5
0

2
0
0

3
0
0

5
0

M16 BOLTS (RECESS 
AS REQUIRED)

50x50x5 WASHERS

JOIST

HEADSTOCK

10

7070 DOME NUT

M20 BOLTS

HEADSTOCK

TIMBER CHOCKS AS SHOWN, CHOCKS TO 
BE BEARING ON HEADSTOCK AT SUPPORTS

M20 EYE NUT FOR SHARK NET (3 PER BAY)
INSTALLED TO MANUFACTURERS SPECIFICATIONS

50mm TIMBER DECKING

1000 NOM1000 NOM

200 600
2x 200x300 TIMBER CHOCKS AS SHOWN 
EQUALLY SPACED BETEEN M20 EYE BOLTS

M20 BOLTS

1
0
0

1
0
0

100100= =

1000 = =

= = = =

CL PILECL PILE

1
0
0

1
0
0

1
0
0

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

D

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR TE SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0041

PA3008-RHD-00-XX-DR-MA-0041

S2

TYPICAL PILE BENT
DETAILS

SECTION
00111 : 10 (A1)

01

TYPICAL BOARDWALK CROSS SECTION

1:20 (A1)   1:40 (A3)

2000mm160012008004000400

D2   FOR TENDER NOT FOR CONSTRUCTION

-
ELEVATION
1 : 20 (A1)

01B

SECTION
-1 : 10 (A1)

01A

-
ELEVATION
1 : 10 (A1)

01C

4. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL 
UNLESS NOTED OTHERWISE. 
REFER TO GENERAL NOTES. 

5. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, ALL 
RECESSES AND BOLT HOLES

6. HANDRAIL TO BE PAINTED WHITE 
AS PER THE SPECIFICATION.

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.02.2022 FOR REVIEW BR TE

B 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

C 17.06.2022 FOR TENDER BR HHZ

D 01.03.2023 AMENDMENTS ACT SHJ SHJ



0052

01

2
1

G

H

3 4

254x12.7 FRP 'I' BEAM 
(STAIR JOIST)

0052

03

0052

02

42503351

7
0
6

7
0
6

7
0
6

TIMBER WALER

TIMBER CHOCK WITH 
TWO M20 BOLTS

300x100 
TIMBER 
JOISTS

300x100 
TIMBER 
HEADSTOCK

2/300x100 
TIMBER JOIST

600x200 TIMBER 
SUPPORT BLOCK

PLASTIC WEDGES 
CUT TO FIT TYP.

HDPE FENDER 
REFER TO DETAILS 
ON SHEET 0022

TERMINATE JOIST AT 
JUNCTION OF WALER

2/300x100 
HEADSTOCK

1
5
0

M
1
6
 A

T
 M

A
X

 5
0
0
 C

R
S

 S
T

A
G

G
E

R
E

D

3010

0053

04

0053

05

0053

06

300x150 TIMBER 
JOIST AT EDGE 
BETWEEN GRIDS 
'F' AND 'H' 

RECYCLED 
PLASTIC 
BLOCKING

TIMBER KERB

TIMBER PICKETS

7
0
6

2
8
2
4

0052

01

2
1

G

H

3 4

TIMBER WALER0052

03
0052

02

8 TIDAL STEPS AT 750= 6000

BOTTOM STEP

1070TYP

750

765

GAP
10

155
GAP
10

D
E

C
K

IN
G

5
0
m

m
 T

IM
B

E
R

0053

04

0053

05

0053

06

50mm TIMBER DECKING 50mm PLASTIC DECKING

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0051

PA3008-RHD-00-XX-DR-MA-0051

S2

TIDAL STEPS PLAN

1 : 20(A1)

TIDAL STAIR - FRAMING PLAN

1 : 20(A1)

TIDAL STAIR - DECK PLAN

D2   FOR TENDER NOT FOR CONSTRUCTION 1:20 (A1)   1:40 (A3)

2000mm160012008004000400

SHJ

N

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



DATUM
RL0.000 m

3 4

RL 1.60

RL -0.25

0052

03

01C
0052

01A
0052

0052

02

01B
0052

TREAD

750

2
0
6

WALER

250 THICK RECYCLED 
PLASTIC WEDGE CUT 
TO SUIT, TWIN M12 
BOLTS TO FRP BEAM 
TYP ALL TREADS 

254x12.7 FRP 'I' BEAM

2x100x300 RECYCLED 
PLASTIC HEADSTOCK

300x100 
TIMBER 
HEADSTOCK

300x100 TIMBER 
JOISTS

254x12.7 
FRP 'I' BEAM

50mm DECKING
50mm DECKING

3351 4250

8 GOINGS AT 750 = 6000

BOTTOM STEP

107076510 GAP

9
 R

IS
E

R
S

 A
T

 2
0
6
 =

 1
8
5
0

PILE PG2

0053

05
0053

06

TREADWELL ARCHITEX 
254x70x12.7 CHANNEL HOUSING 
200x75 HDPE RUBBING STRIP
(IN FOREGROUND)

TREADWELL ARCHITEX 
355x89x19 CHANNEL
(IN FOREGROUND)

EQEQ EQEQ

NOTCH HEADSTOCK LOCALLY 
AT STAIR JOIST LOCATIONS AS 
REQUIRED

100x50mm PICKETS
@200 CENTRES.

G H

100x50 PICKETS @ 200CENTRES.
M8x75 LG COACH SCREWS TOP & BTM
TO WALER AND KICK RAIL

M12 BOLTS

50mm DECKING

WALER

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

2x100x300 RECYCLED 
PLASTIC SECTION

254x12.7 FRP 
'I' BEAM

RL 2.50

RL -1.00

HDPE RUBBING 
STRIP

150

0M24 BOLTS

254x12.7 FRP 'I' BEAM
RUBBING STRIP

3227

03A
-

101.6x12.7 
FRP EA

1
0
0

1
0
0

275 490 680 615 590

RECYCLED 
PLASTIC SECTION 
PACKERS TO SUIT

100x250 
RECYCLED 
PLASTIC SECTION 

0053

04

200

RL 2.00

100X100 KERB WITH
M12-200 GR 316
STAINLESS STEEL 
COACH SCREWS.

3

426

1
0
0

50mm 
DECKING

RECYCLED 
PLASTIC 
WEDGE 
CUT TO 
SUIT

2x100x300 RECYCLED 
PLASTIC SECTION 

254x12.7 FRP 
'I' BEAM

1
0
0

M20 BOLTS

CL PILE100x200 RAILS

M16 BOLTS

80 80

10 GAP

G

123

27

1
0
0

600

3
0
0

200200

100 100

1
0
0

50 DECKING

600Lx300Hx200D 
TIMBER BLOCK 
RECESSED INTO 
PILE 25mm

300x100 TIMBER 
JOISTS

M20 BOLTS

M16 
STAGGERED 
BOLTS (500 
CENTRES)

M16 BOLTS

300x100 
HEADTSTOCK 
(BEHIND)

1
0
0

1
0
0

75

75

GAP
10

2x100x300 RECYCLED 
PLASTIC SECTION

M16 STAGGERD BOLTS 
(500 CENTRES)

300x100 TIMBER 
HEADSTOCK

50 DECKING

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

254x12.7 FRP 
'I' BEAM

M16 BOLT

1
1
0

5
0

6
0

5
0

7
0

1
2
0

NOTCH HEADSTOCK 
LOCALLY AT STAIR JOIST 
LOCATIONS AS REQUIRED

300x100 TIMBER JOISTS

M16 BOLT

3

101.6 x 12.7 FRP EA6
0

6
0

50

100x200 RECYCLED 
PLASTIC RAILS

M16 BOLTS

HEADSTOCK

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0052

PA3008-RHD-00-XX-DR-MA-0052

S2

TIDAL STEPS
SECTIONS - SHEET

1

SECTION
00511 : 20 (A1)

01

SECTION
00511 : 20 (A1)

03

-
DETAIL
1 : 10 (A1)

01C

-
DETAIL
1 : 10 (A1)

01A

SECTION
00511 : 10 (A1)

02

-
DETAIL
1 : 10 (A1)

01B

SECTION
-1 : 10 (A1)

03A

4. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL. 
ALL STAINLESS STEEL BENEATH 
RL 0 TO BE SS GRADE 2205 
DUPLEX BOLTS. 

5. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, RECESSES 
AND BOLT HOLES.

6. FRP BEAM TO BE 254 x12.7 FRP 
BEAM BY TREADWELL.

7. ALL RECYCLED PLASTIC 
PRODUCTS ARE TO BE BY 
AUSTRALIAN RECYCLED PLASTICS.

D2   FOR TENDER 

NOT FOR CONSTRUCTION

1:20 (A1)   1:40 (A3)

2000mm160012008004000400

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

RAIL CONNECTION AT HEADSTOCK (SIMILAR AT PG2)

TYPICAL RAIL CONNECTION

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



100x300 RECYCLED 
PLASTIC SECTION 

2x100x300 RECYCLED 
PLASTIC SECTION 

50mm 
DECKING

M20 BOLTS

M20 BOLT

1
0
0

1
0
0

75 100

CL PILE

460

75

75

1
0
0

1
0
0

M12 BOLTS

3

1500

8
0

8
0

200
100

100
200

50mm 
DECKING

2x100x300 RECYCLED 
PLASTIC SECTION 

254x12.7 FRP 
'I' BEAM

100x250 RECYCLED 
PLASTIC SECTION 

RECYCLED PLASTIC 
SECTION PACKERS TO SUIT

M20 BOLTS

M20 BOLTS

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

0053
06

1
0
0

1
0
0

1
5
0

1
0
m

m
 G

A
P

25
25

2
5

M12 BOLTS

M12 BOLTS

1
0
0

1
0
0 5
0

5
0

100x100x8 GRADE 
316 SS ANGLE

2
5
0

100x100x8 GRADE 
316 SS ANGLE

150

TREADWELL 
ARCHITEX 
254x70x12.7 CHANNEL 
HOUSING 200x75 
HDPE RUBBING STRIP

TREADWELL ARCHITEX 
355x89x19 CHANNEL

2x 100 WIDE RECYCLED PLASTIC 
BLOCKING HEIGHT TO SUIT 

25

4

M20 BOLTS

200
100

74 76

8
0

8
0

RECYCLED PLASTIC 
SECTION PACKERS TO SUIT

2x100x300 RECYCLED 
PLASTIC SECTION 
(NOTCH HEADSTOCK 
LOCALLY AS REQUIRED)

920

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

DATUM
RL0.000 m

H

E
Q

E
Q

E
Q

E
Q

1
0
0

1
0
0

TO SUIT
RECYCLED PLASTIC PACKER

E
Q

E
Q

1
0
0

1
0
0

M12 BOLTS

TREADWELL 
ARCHITEX 
254x70x12.7 CHANNEL 
HOUSING 200x75 
HDPE RUBBING STRIP

TREADWELL ARCHITEX 
355x89x19 CHANNEL

M20 BOLT

M12 BOLTS

DATUM
RL0.000 m

H

M12 BOLTS

100x100x8 GRADE 
316 SS ANGLE

TREADWELL 
ARCHITEX 
254x70x12.7 CHANNEL 
HOUSING 200x75 
HDPE RUBBING STRIP

1
5
0

1
0
5

1
0
0

E
Q

E
Q

100x100x8 GRADE 
316 SS ANGLE

TREADWELL ARCHITEX 
355x89x19 CHANNEL

2x M12 COACH SCREWS 
100 LONG EACH END 

2x 100 WIDE RECYCLED PLASTIC 
BLOCKING HEIGHT TO SUIT 

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

B

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0053

PA3008-RHD-00-XX-DR-MA-0053

S2

TIDAL STEPS
SECTIONS - SHEET

2

SECTION
00511 : 10 (A1)

04

SECTION
00511 : 10 (A1)

05SECTION
-1 : 10 (A1)

06

4. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL. 
ALL STAINLESS STEEL BENEATH 
RL 0 TO BE SS GRADE 2205 
DUPLEX BOLTS. 

5. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, RECESSES 
AND BOLT HOLES.

6. FRP BEAM TO BE 254 x12.7 FRP 
BEAM BY TREADWELL.

7. ALL RECYCLED PLASTIC 
PRODUCTS ARE TO BE BY 
AUSTRALIAN RECYCLED PLASTICS.

D2   FOR TENDER 

NOT FOR CONSTRUCTION

SHJ

REV DATE DESCRIPTION BY CHK

A 17.06.2022 FOR TENDER BR HHZ

B 01.03.2023 AMENDMENTS ACT SHJ SHJ



2

1

A

01
-

HANDRAIL

02
-

03
-

04
-

TIMBER 
STAIR EDGE 
BEAM

9 STEPS AT 350 = 3150

S
T

A
IR

 T
R

E
A

D

2
5
0
0

BOARDWALK 
JOISTS

STAIR JOISTS

SHARK NET 
WALER JOIST

S

DATUM
RL0.000 m

2 1

775 730 730

M24 SS BOLTS 

COMPOSITE 
HEADSTOCK

STAIR EDGE 
BEAM

STAIR EDGE 
BEAM

50mm DECKING

M16 BOLTS

3751550575

FRP PFC 
STAIR JOISTS

DATUM
RL0.000 m

A

01
-

02A
0061

02B
0061

50mm RECYCLED PLASTIC 
DECKING INSTALLED BELOW 
SAND LEVEL

50mm TIMBER ABOVE SAND LEVEL

RL 1.60

RL 0.25

50mm TIMBER 
DECKING

FRP PFC STAIR JOIST

300x100 TIMBER 
JOISTS

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

APPROX. SAND LEVEL

COMPOSITE 
HEADSTOCK

2430

350

1
5
0

995

1050

S

DATUM
RL0.000 m

A

01
-

04
-

HANDRAIL

100

100

200x100 TIMBER EDGE BEAM

=

1M16 BOLTS AT ENDS

APPROX. SAND LEVEL

=

2M16 BOLTS AT HANDRAIL LOCATIONS

COMPOSITE BEAM HEADSTOCK

TIMBER 
HEADSTOCK

TIMBER 
JOIST

S

A
50

1
0
0

5
4

5
4

FRP PFC STAIR JOIST

50mm TIMBER TREADS

RECYCLED PLASTIC 
WEDGE CUT TO SUIT

50mm TIMBER DECKING

TIMBER HEADSTOCK 
REFER TO SHEET 0042 
FOR DETAILS

300x100 TIMBER JOISTS

2x M20 BOLTS

01
-

370

1
5
0

20FRP PFC STAIR JOIST 
NOTCH INTO HEAD

COMPOSITE HEADSTOCK

M16 BOLT

50mm RECYCLED PLASTIC 
DECKING PLANKS BY APR 
INSTALLED BELOW SAND LEVEL

50mm TIMBER ABOVE 
SAND LEVEL

TWIN M10 BOLTS

S

1
0
0

8
0

FRP PFC 
STAIR JOIST

50mm TIMBER 
TREAD

7
0

7
0

HANDRAIL, 
REFER TO 
SHEET 0042 
FOR DETAILS

2M16 BOLTS 

HANDRAIL

200x100 TIMBER 
EDGE BEAM

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0061

PA3008-RHD-00-XX-DR-MA-0061

S2

ACCESS STAIRS

1 : 20(A1)

ACCESS STAIRS PLAN

SECTION
-1 : 10 (A1)

01

SECTION
-1 : 20 (A1)

02

SECTION
-1 : 20 (A1)

03

-
DETAIL
1 : 10 (A1)

02A

-
DETAIL
1 : 10 (A1)

02B

SECTION
-1 : 10 (A1)

04

HANDRAIL NOT SHOWN FOR CLARITY 

4. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL. 
ALL STAINLESS STEEL BENEATH 
RL 0 TO BE SS GRADE 2205 
DUPLEX BOLTS. 

5. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, ALL 
RECESSES AND BOLT HOLES.

6. FRP JOISTS TO BE 203.2 x 55.6 x 
9.6 PFC BEAM BY TREADWELL.

7. COMPOSITE HEADSTOCK TO 
CONSIST OF 152.4 x 9.6 EQUAL 
ANGLE AND 230 x 130 RECYCLED 
PLASTIC SECTION BY APR.

8. ALL RECYCLED PLASTIC 
PRODUCTS ARE TO BE BY 
AUSTRALIAN RECYCLED PLASTICS.

9. CONTRACTOR TO INSTALL ANTI-
CRUSH BLOCKS TO PFC'S AS 
SUPPORTS. 

1:20 (A1)   1:40 (A3)

2000mm160012008004000400

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

D2   FOR TENDER 

NOT FOR CONSTRUCTION

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



DATUM
RL0.000 m

02A
0071

MAX 1500 CTS

M20 BOLTS EVENLY SPACED CL PILECL PILE

100 100 100 100= = =

ANTI PEDESTRIAN WEDGE 
PROVIDE TIMBERBEAM OVER 
WALER PAINTED WHITE

M20 BOLTS TO SECURE 
WEDGE TO WALER

NOTCH ANTI PEDESTRIAN 
WEDGE TO SUIT OVER BOLTS

BOLT TO BE RECESSED INTO ANTI PEDESTRIAN 
WEDGE AND FILLED WITH PORION EXTERIOR FLEXIBLE 
FILLER. FILLER TO BE PROFILLED TO WEDGE PROFILE.

CL PILE
HALVING JOINT

FOR PILE CONNECTION DETAIL 
REFER TO SHEET 0033

3M24 BOLTS

M20 BOLTS 10
1
0
0

200175175200

1
0
0

M20 BOLT 
WITH EYE NUT

300

300 x 350 WALER 200 x 100 WALER

DRILL HOLE FOR M20 
BOLT WITH EYE NUT, 
BOLT AND EYE NUT 
INSTALLED BY OTHERS

HALVING JOINT IN 
300 x 350 WALER

CL PILE

SHARK-NET
BY OTHERS

M24 BOLTS

200

=
=

200 175 175 200

7
5

7
5

10

200200

500 500

675

300

ANTI PEDESTRIAN WEDGE

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0071

PA3008-RHD-00-XX-DR-MA-0071

S2

SHARK-NET WALER
DETAILS

ELEVATION
00111 : 20 (A1)

02

1 : 10(A1)

SHARK-NET WALER DETAIL PLAN

-
DETAIL
1 : 10 (A1)

02A

LOCATION OF SHARK NET 
SUPPORT TO BE 
DETERMINED IN 
CONSOLTATION WITH 
SHARK NET INSTALLER

4. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, ALL 
RECESSES AND BOLT HOLES.

5. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL. 
ALL STAINLESS STEEL BENEATH 
RL 0 TO BE SS GRADE 2205 
DUPLEX BOLTS

6. 1ST WALER PLACED IN EITHER 
DIRECTION TO BE PLACED OVER 
TWO SUPPORTS FOR STABILITY.

D2   FOR TENDER NOT FOR CONSTRUCTION 1:20 (A1)   1:40 (A3)

2000mm160012008004000400

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



21

2
7
0
0

2
4
0
0

2
1
0
0

150x100 TIMBER 
SIGN POST

HANDRAIL POST 
EITHER SIDE OF 
SIGN POST 

SHARKNET 
WALER

DECKING 
JOIST TIMBER 

CHOCK

F

100

100

1
0
0

1
0
0

= = = =

M12 BOLT

M12 BOLT

M20 BOLTS
M20 BOLTS

100x100 TIMBER 
BRACKET

150

150x100 
TIMBER SIGN 
POST

NOTCH DECKING 
TIMBERS AROUND POST

200x300 TIMBER 
CHOCKS

50

150

25

150x100 
TIMBER POST

M12 BOLT

150x100 TIMBER 
SIGN POST

HANDRAIL POST 
EITHER SIDE OF 
SIGN POST 

M20 BOLTS 

150

1
0
0

1
0
0

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

21

F

01
-

02
-

03
-

04
-

100x100 TIMBER 
BRACKET

M12 BOLT

SHARKNET 
WALER

DECKING 
JOIST

DECKING 
JOIST

100x100 TIMBER 
BRACKET

150x100 
TIMBER SIGN 
POST

150x100 
TIMBER 
SIGN POST

HANDRAIL 
POST EITHER 
SIDE OF 
SIGN POST

TIMBER CHOCK

TIMBER CHOCK

04A
-

100

5
0

2990

2390 300300

3
0
0

100100

550

1
0
0

1
0
0

1
0
0

100x100 TIMBER 
BRACKET

4
5
.0

°

M12 BOLTS
M12 BOLTS

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

B

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0081

PA3008-RHD-00-XX-DR-MA-0081

S2

SIGN DETAILS

SECTION
-1 : 20 (A1)

01

SECTION
-1 : 10 (A1)

02

SECTION
-1 : 10 (A1)

04A

SECTION
-1 : 10 (A1)

03

D2   FOR TENDER NOT FOR CONSTRUCTION 1:20 (A1)   1:40 (A3)

2000mm160012008004000400

1 : 20(A1)

SIGN PLAN

SECTION
-1 : 10 (A1)

04

SHJ

REV DATE DESCRIPTION BY CHK

A 17.06.2022 FOR TENDER BR HHZ

B 01.03.2023 AMENDMENTS ACT SHJ SHJ



DATUM
RL0.000 m

F

02
-

03
-

LADDER CENTRALLY 
PLACED BETWEEN  
FENDER PILES

OFFSET FENDER 
BOLTS

MOORING 
CLEATS, REFER 
TO SHEET 0032 
FOR DETAILS

FENDERS, REFER 
TO SHEET 0032 
FOR DETAILS

254 x 12.7 FRP 'I' BEAM 

HANDRAIL

DATUM
RL0.000 m

1

RL -0.20

RL 0.80

RL 1.60

200

1
0
0
0

525 48 x 3 CHS 4CFW TO PLATES

6mm PLATE 2x 
NO-14 SCREWS 
COUNTERSUNK

254 x 12.7 FRP 'I' BEAM 

125x100 HDPE 
PACKER FULL 
HEIGHT OF LADDER

250x150x9 RHS GRADE 350

T
Y

P

3
0
0

Ø20 STEEL RUNG 5CFW 
ALL ROUND AT 300 CRS

8mm CAPPING 
PLATE

125 PFC 6 CFW CAT. 
GP ALL ROUND (SEAL)

120 HIGH x 250 LONG HARDWOOD PACKER

90x8 FLAT x 200 LONG. 100 PROJECTION 
PAST OUTSIDE FACE OF RHS STILE.

150x8 FLAT x 250 LONG 
6CFW ALL ROUND (SEAL) 4 
M12 SS BOLTS PER STILE. 
HEADS ON LADDER SIDE 
AND NUTS ON INSIDE 
FLANGE OF H-BEAM

RL -1.20

300x150 TIMBER 
JOIST

M12-400 SS THROUGH 
BOLT WITH HEAD ON THE 
INSIDE AND NUT ON THE 
OUTSIDE OF LADDER

1

F G H

0091

01
02

-
LADDER CENTRALLY 
PLACED BETWEEN  
FENDER PILES

4500

CHANGE EDGE  
TIMBER JOIST 
BETWEEN GRIDS 'F' 
AND 'H' TO 300x150

120 HIGH x 250 LONG 
HARDWOOD PACKER

90x8 FLAT x 200 LONG. 100 
PROJECTION PAST OUTSIDE 
FACE OF RHS STILE. 6 CFW 
ALL ROUND (SEAL). 1M30 SS 
BOLT PER STILE

254 x 12.7 FRP 'I' BEAM 

250x150x9 RHS 
GRADE 350

Ø20 STEEL RUNG 5CFW 
ALL ROUND AT 300 CRS

8mm CAP PLATE

125x100 HDPE PACKER 
FULL HEIGHT OF LADDER

125 PFC 6 CFW CAT. GP ALL ROUND (SEAL)
M12-400 SS THROUGH BOLT WITH HEAD ON 
INSIDE AND NUT ON OUTSIDE OF LADDER

1
2
0

6mm PLATE

Ø50 x 3 SS TUBE

150x8 FLAT x 250 LONG 6CFW ALL ROUND 
(SEAL) 4 M12 SS BOLTS PER STILE. HEADS 
ON LADDER SIDE AND NUTS ON INSIDE 
FLANGE OF H-BEAM

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

B

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0091

PA3008-RHD-00-XX-DR-MA-0091

S2

LADDER PLAN AND
DETAILS

SECTION
-1 : 20 (A1)

01

SECTION
-1 : 10 (A1)

02

1 : 20(A1)

FENDER AND LADDER PLAN

SECTION
-1 : 10 (A1)

03

4. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS STEEL. 
ALL STAINLESS STEEL BENEATH 
RL 0 TO BE SS GRADE 2205 
DUPLEX BOLTS. 

5. APPLY PROTECTIVE COATING TO 
ALL TIMBER IN TIDAL ZONE, 
TIMBER TO TIMBER INTERFACE, 
TRIMMED SURFACES, RECESSES 
AND BOLT HOLES.

6. FRP BEAM TO BE 254 x12.7 FRP 
BEAM BY TREADWELL.

7. ALL RECYCLED PLASTIC 
PRODUCTS ARE TO BE BY 
AUSTRALIAN RECYCLED PLASTICS.

D2   FOR TENDER 

NOT FOR CONSTRUCTION

SHJ

REV DATE DESCRIPTION BY CHK

A 17.06.2022 FOR TENDER BR HHZ

B 01.03.2023 AMENDMENTS ACT SHJ SHJ



0
.0

0
.5

1
.0

01
-

0111

02

HANDRAIL

RL 1.18
STEP

EXISTING GROYNE TO BE DEMOLISHED 
WITH GRAVEL AND ROCKS TO BE USED 
AS FILL INSIDE NEW GROYNE

NEW SANDSTONE 
BLOCK GROYNE

WALER

0112

03

16600

2
5
0
0

0112
04

11821

16500

E
X

IS
T

IN
G

 B
O

A
T

 R
A

C
K

S

BH1

DCP 3

DCP 4

3930 3930 3940

10 GAP 10 GAP

3000

05
-

REINFORCED CONCRETE 
SLAB (UPPER) JOINED AT 
THIRD POINTS

REINFORCED 
CONCRETE 
SLAB (LOWER) 

RL 1.40

DATUM
RL0.000 m

0111

02

RL 1.40

RL 1.18

APPROXIMATE LAYOUT OF 
LIVING SEAWALL PANEL 
TILES (IN FOREGROUND)

APPROXIMATE EXISTING ROCK LEVEL, ROCK LEVELS 
ARE EXPECTED TO BE HIGHER ON THE SOUTHERN SIDE

200 THICK REINFORCED 
CONCRETE SLAB (UPPER) 
JOINED AT THIRD POINTS

280 THICK 
REINFORCED 
CONCRETE 
SLAB (LOWER) 

0112

04

FRONT OF EXISTING BOAT RACK

3000

NEW SANDSTONE BLOCK GROYNE

750mm EMBEDMENT INTO ROCK

Ø30 THREADED ROD SS DUPLEX GRADE 2205 500mm EMBEDMENT INTO ROCK
Ø24 THREADED ROD SS DUPLEX GRADE 2205

EXISTING GROYNE CONTINUES 
UNDER BOAT RACK, LEAVE AS IS

Ø30 THREADED SS DUPLEX GRADE 
2205 750mm EMBEDMENT INTO ROCK

MASS CONCRETE FOOTING TO PROVIDE LEVEL 
SURFACE FOR SANDSTONE BLOCK PLACEMENT

INTO SLAB EVERY 2ND BLOCK

Ø24 THREADED ROD SS DUPLEX GRADE 2205

Ø24 SS GRADE 316 INTO SLAB 2 
ALONG FRONT EDGE

820

SANDSTONE BLOCK TO BE CUT 
ON SITE TO SUIT DIMENSIONS

LEAVE VERTICAL JOINT UNGROUTED 
AT EVERY 3RD BLOCK ON THE 
BOTTOM COURSE (SHOWN GREEN)

EXISTING GROYNE 
TO BE DEMOLISHED

750mm EMBEDMENT INTO ROCK
Ø36 THREADED ROD SS DUPLEX GRADE 2205

MASS CONCRETE FILL LOCALLY
UNDER UPPER SLAB TO SEAL GAP

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

10 GAP

REINFORCED CONCRETE 
SLAB

SANDSTONE BLOCKS

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0101

PA3008-RHD-00-XX-DR-MA-0101

S2

GROYNE PLAN AND
LONG SECTION

1 : 50(A1)

GROYNE PLAN

SECTION
-1 : 50 (A1)

01

4. CONCRETE USED FOR MASS 
CONCRETE FOUNDATION 
SHALL HAVE F'c = 32MPa

5. CONCRETE USED FOR THE 
GROYNE SLAB SHALL HAVE F'c 
= 50MPa 

6. ROCK LEVELS TAKEN FROM 
GEOTECH REPORT

7. SANDSTONE BLOCKS ARE 
1000L x 500H x 500 HIGH

SECTION
-1 : 10 (A1)

05

JOINT DETAIL

D2   FOR TENDER NOT FOR CONSTRUCTION

5000mm400030002000100001000

1:50 (A1)   1:100 (A3)INDICATIVE PLACEMENT OF SANDSTONE BLOCKS -
CONTRACTOR TO ADJUST DEPENDING ON ROCK LEVELS

SHJ

N

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ



SANDSTONE BLOCKS, CONTRACTOR 
TO SUPPORT BLOCKS DURING 
CONSTRUCTION WITH BRACING AS 
REQUIRED

EXISTING GROYNE
IN RED

EXISTING SAND 
LEVEL VARIES

EXISTING SAND 
LEVEL VARIES

BEDROCK VARIES
SHOWN RL-1.1

LOCALLY EXCAVATE SAND 
TO PROFILE - REPROFILE 
TO EXISTING LEVELS ONCE 
GROYNE IS CONSTRUCTED

AS REQUIRED DEMOLISH EXISTING GROYNE 
TO ENABLE CONSTRUCTION OF NEW 
GROYNE- REUSE ROCKS INSIDE AS FILL 

20mm NOM GROUT 

200mm THICK 
CONCRETE SLAB

DIA 24mm SS 2205 DUPLEX THREADED RODS 350 
LONG 100mm EMEDMENT INTO SLAB. FILL CORED 
HOLE IN SANDSTONE WITH SIKA GROUT DEEP POUR

MASS CONCRETE FOUNDATION 
MIN 100mm MAX 550mm HIGH 
FOUNDED ON ROCK

CONTRACTOR TO 
INSTALL LIVING 
SEAWALL PANELS 
TILES TO 
MANUFACTURERS 
SPECIFICATION

600 MIN

20mm NOM GROUT IF 
PRECAST PANELS ARE USED

100mm CORED VOID TO SUIT METHOD 
OF SANDSTONE BLOCK PLACEMENT 
WITH SIKA GROUT DEEP POUR

N16-200 EW

7
5
 C

O
V

E
R

2500

SS THREADED ROD
REFER TO DRW 0101 FOR DETAILS 
GROUT RODS WITH SIKADUR - 53 

OR SIMILAR UNDERWATER EPOXY

100mm LAYER OF 
SELECT FILL TO TfNSW 
SPECIFICATION 3071

THE INTERIOR OF THE GROYNE SHALL 
BE THOROUGHLY FILLED WITH ROCK -
REUSE EXISTING GROYNE ROCK 

RL VARIES 
RL 1.4m AHD SHOWN

DIA 75mm CORED HOLE TYP

300 HIGH (NOMINAL) BLOCK

1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

D

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR TE SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0111

PA3008-RHD-00-XX-DR-MA-0111

S2

GROYNE SECTIONS
- SHEET 1

SECTION
01011 : 10 (A1)

02

TYPICAL GROYNE SECTION

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

D2   FOR TENDER NOT FOR CONSTRUCTION

4. CONCRETE USED FOR MASS 
CONCRETE FOUNDATION 
SHALL HAVE F'c = 32MPa

5. CONCRETE USED FOR THE 
GROYNE SLAB SHALL HAVE F'c 
= 50MPa 

6. MORTAR TO BE GRADE M4 TO 
AS3700 MIN COMPRESSIVE 
STRENGTH 30 MPA

7. ALL REINFORCEMENT USED 
IN THE WORKS SHALL BE HOT 
DIPPED GALVANISED

8. ALL STEELWORK, BOLTS AND 
FIXINGS TO BE STAINLESS 
STEEL. ALL STAINLESS STEEL 
BENEATH RL 0 TO BE SS GRADE 
2205 DUPLEX BOLTS

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.02.2022 FOR REVIEW BR TE

B 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

C 17.06.2022 FOR TENDER BR HHZ

D 01.03.2023 AMENDMENTS ACT SHJ SHJ



1. FOR GENERAL NOTES REFER TO 
SHEETS 0002 TO 0005

2. ALL DIMENSIONS ARE IN 
MILLIMETRES AND ALL LEVELS ARE 
IN METRES RELATIVE TO AHD 
UNLESS NOTED OTHERWISE.

3. ALL MATERIALS & WORKMANSHIP 
WILL BE AS DEFINED IN THE 
SPECIFICATION UNLESS NOTED 
OTHERWISE

NOTES:

DATUM
RL0.000 m

N16-200 EW TOP

APPROXIMATE ROCK LEVEL, 
ROCK LEVEL IS HIGHER ON 
SOUTH SIDE

280 THICK CONCRETE SLAB (LOWER)

CONCRETE FOOTING AND 
DOWELS REFER TO TYPICAL 
SECTION ON SHEET 0112

7
5
 C

O
V

E
R

SL82 BTM 

7
5
 C

O
V

E
R

APPROXIMATE SAND LEVEL

DATUM
RL0.000 m

SAND LEVEL

1000x500x500 SANDSTONE BLOCK

M30 SS THREADED RODS ALONG 
FRONT FACE OF GROYNE, REFER TO 
TYPICAL SECTION ON SHEET 0111

200 THICK CONCRETE 
SLAB (UPPER)

ROCK LEVEL VARIES

LOCALLY EXCAVATE SAND TO 
PROFIL - REPROFILE EXISTING 
LEVELS ONCE GROYNE IS 
CONSTRCTED

Ø24 SS THREADED RODS 
ALONG FACE OF GROYNE, 
REFER TO TYPICAL 
SECTION ON SHEET 0111

300mm HIGH SANDSTONE BLOCK

RL 1.40

Laan 1914 no 35
3818 EX Amersfoort

Tel: +31 (0)88 348 20 00 
info@rhdhv.com

www.royalhaskoningdhv.com

Copyright © HaskoningDHV Nederland B.V.

REVISION

TITLE

SCALE
AT A1

REF.DATE

APPROVEDCHECKEDDRAWN

DRAWING No.

PROJECT

CLIENT

REVISIONS

SUITABILITY

APP

As indicated

C

C:\Users\923834\Box\PA3008 Paradise Pool\PA3008 Paradise Pool WIP\02_CAD\PA3008-RHD-00-XX-M3-MA-1001- PROJECT MODEL.rvt

PARADISE BEACH TIDAL POOL
REPLACEMENT

BR HHZ SHJ

28.02.2023

PA3008-RHD-00-XX-DR-MA-0112

PA3008-RHD-00-XX-DR-MA-0112

S2

GROYNE SECTIONS
- SHEET 2

4. CONCRETE USED FOR MASS 
CONCRETE FOUNDATION 
SHALL HAVE F'c = 32MPa

5. CONCRETE USED FOR THE 
GROYNE SLAB SHALL HAVE F'c 
= 50MPa 

6. MORTAR TO BE GRADE M4 TO 
AS3700 MIN COMPRESSIVE 
STRENGTH 30 MPA

7. ALL REINFORCEMENT USED 
IN THE WORKS SHALL BE HOT 
DIPPED GALVANISED

SECTION
01011 : 10 (A1)

04

1:20 (A1)   1:40 (A3)

2000mm160012008004000400

D2   FOR TENDER NOT FOR CONSTRUCTION

ELEVATION
01011 : 20 (A1)

03

1:10 (A1)   1:20 (A3)

1000mm8006004002000200

SHJ

SHJ

REV DATE DESCRIPTION BY CHK

A 25.03.2022 ISSUED FOR CLIENT REVIEW BR TE

B 17.06.2022 FOR TENDER BR HHZ

C 01.03.2023 AMENDMENTS ACT SHJ SHJ


	Sheets
	0001 - TITLE SHEET, LOCALITY PLAN & DRAWING LIST
	0002 - GENERAL NOTES -  SHEET 1
	0003 - GENERAL NOTES - SHEET 2
	0004 - GENERAL NOTES - SHEET 3
	0005 - GENERAL NOTES - SHEET 4
	0011 - GENERAL ARRANGEMENT
	0012 - DEMOLITION PLAN
	0021 - PILE LAYOUT
	0031 - TYPICAL PILE ELEVATIONS
	0032 - TIMBER PILE DETAILS
	0033 - STEEL PILE DETAILS
	0041 - TYPICAL PILE BENT DETAILS
	0051 - TIDAL STEPS PLAN
	0052 - TIDAL STEPS SECTIONS - SHEET 1
	0053 - TIDAL STEPS SECTIONS - SHEET 2
	0061 - ACCESS STAIRS
	0071 - SHARK-NET WALER DETAILS
	0081 - SIGN DETAILS
	0091 - LADDER PLAN AND DETAILS
	0101 - GROYNE PLAN AND LONG SECTION
	0111 - GROYNE SECTIONS - SHEET 1
	0112 - GROYNE SECTIONS - SHEET 2


